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Definition:

A causal relationship is one in which a change in one of the
variables directly causes a change in the other variable.

1.) Which relationship can best be described as causal?

1) height and intelligence

2) shoe size and running speed

=
( ﬂ number of correct answers on a test and test score

4) number of students in a class and number of students with brown
hair

2.) A study showed that a decrease in the cost of carrofs led to an
increase in the number of carrofs sold. Which statement best
describes this relationship?

1) positive correlation and a causal relationship ——l
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Directions:

Please use a
highlighter to check
your answers. Bring
your guestions to
class or review
sessions.



4.) What type of relationship exists between the number of

g_ﬂaggggmed on a printer and the amount of ink used by th at
¥ | . four-year period are as follows:

1) positive correlation, but not causal
@posiﬁve correlation, and causal

3) negative correlation, but not causal

4) negative cormelation, and causal

7.1,9.2,80,6.1,14.4,85,6.1,68,7.7,
21.5,6.7,9.0,84,7.0,11.5,14.1,9.5,8.6

5.) Beverly did a study this past spring using data she collect. . iation =
7) Based on the box-and-whisker plot below, which sfotemenl@

soda sales. Beverly found the line of best fit and the correlation
coefficient, as shown in the diagram below.
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é2) The ranae is12. D
) The first quartile is 4.«

) The third quartile is 11.4"

) Which graph represents y=—|x+2|2
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6) The term "snowstorms of note" applies to all snowfalls over 6 inches.
The snowfall amounts for snowstorms of note in Utica, New York, over a

What are the mean and population standard deviation for these data,
to the nearest hundredth?
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9.) Solve the fdlowh_g_—m_,tem of equations algebraically.
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.) The function f(x) is graphed on the set of axes below. On the same
t of axes. araoh fix + 1) +2.
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12.) Tyler sees an advertisement for a carin g Newspaper.

: : Which
information would not be classified as Quantitative2
—

1) the cost of the car

2) the car's mileage
the model

4) the weight of the car

13.)) Which situation is represented by bivariate datgz
1) A student fists her algebra quiz grades for one month,
2) A wrestler records his weight before each match.

3) A musician writes down how many minutes she practices her
instrument each day.

4)/An ice cream vendor fracks the daily hig

h temperature and
W many ice cream bars

he sells each day.

14.) Whatis an €quation of the line that Passes through the

points (2, 7) and (-
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iddle school are:
ath teachers at Bﬂlfc;r; Midd
the ages o' 1" %0, 36, 38, 38, 29, 36, %
] i d deviation of these ages to the ne

mine the standar

peter
8,19, 19
10,12, 14,17,17. 18, ;
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17.) T data seJriber of hours spent on t:;l)r:zrn e
refsfesenfs ".’e: mathematics class. Whic e s

dents in ¥
:)e,;;srt;ems the data? [~)
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